General Instructions:

Read the following instructions very carefully and strictly follow them :
e This question paper comprises four Sections - A, B, Cand D.
e There are 12 questions in the question paper on 2 printed pages.
o All questions are compulsory.
e Section A — Questions no. 1 to 4 are very short answer type questions carrying
e Section B — Questions no. 5 to 8 are carrying two marks each.
e Section C - Questions no. 9 to 11 carrying three marks each.
e Section D - Questions no. 12 is case based type question, carrying four marks each.
o There is no overall choice.

Use of calculators is NOT allowed.
Show working steps and give reasons accordingly wherever required. It carries marks.

one mark each.

SECTION-A

L State any TWO limitations of dimensional analysis.

2. | A particle moves along a path ABCD as shown in the figure below. Calculate the | 1
magnitude of displacement of the particle from A to D.
De

$Im

A R T = ) »
3. | A car moves from X to Y with a speed v, and Y to X with a speed vg. Calculate the | 1
average speed for this round trip in terms of v, and v4
4. | State why SI System is a rational system of units with an example. 1

SECTION-B

5. | Write the dimensional formula of a/b in the relation P = (a - t°)/bx, where P is the | 2
pressure, X is the distance and t is the time.

Convert 1 Newton into dyne using the method of dimensions.

The velocity-time graph of a body moving along a straight line is shown in the
figure. Find the displacement and distance travelled by the body in 6 seconds.
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